Multiplying Monomials

Simplify each expression

**********************************************************************************

@ (x*)(2x?) = @ (15x%)(3x’) =

@ -8xy*x 3x%y = i

LB 4y3x(-2y) =

(6 5u’t x 3ut? =

@ 12}/2Z3 % (_yzz) —

@ (-10x**)(2x%°) = i (-5x%y?)(-2x%?) =
© (4x’y)(5x%y?) = (-20xy)(2x°y) =
@ (3mn?)(9min) - @ (xyxy) - |

® G - @ OxY)(-3x) - |
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Multiplying Monomials

Answers

(x*)(2x?) =

% o

4y*x(-2y) = _ -8y’

12y*z°

X (—yzz) = —12)/424

(-10xyH)(2xy") = -20x1y"

(4x3yH(Sx%y?) = 20x%y°

(3mn?)(9m?n) = 27m?n?

(2r*t)(5¢%) = 10r2t?

@

(-20xy)(2x%?) = ~40x"y"

(7xy®)(4x%y*) = 28x7y™

(9x%y)(-3x%?%) = -27x%y*

MATH
(15x%)(3x%) = 45x®
-8xy? x 3x%y = -24x°y’
5u’t x 3ut? = 15uts
(-5x%y2)(-2x%y%) = 10x7y’
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